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=
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26



The Jauho-Meir formula

Iα(t) = 2Re{Vα(t)G<
mα,0α(t, t)}

=

∫ t

t0

ds

∫ 2

−2
dE
√

4− E2Vα(s)Vα(t)e−i(s−t)E{G<
mα,mα(t, s) + fα(E)GR

mα,mα(t, s)}

=

∫ t−t0

0

dsVα(t− s)Vα(t){G<
mα,mα(t, t− s)

∫ 2

−2
dE
√

4− E2eisE

+GR
mα,mα(t, t− s)

∫ 2

−2
dE
√

4− E2eisEfα(E)}

27



The Jauho-Meir formula

Iα(t) = 2Re{Vα(t)G<
mα,0α(t, t)}

=

∫ t

t0

ds

∫ 2

−2
dE
√

4− E2Vα(s)Vα(t)e−i(s−t)E{G<
mα,mα(t, s) + fα(E)GR

mα,mα(t, s)}

=

∫ t−t0

0

dsVα(t− s)Vα(t){G<
mα,mα(t, t− s)

∫ 2

−2
dE
√

4− E2eisE

+GR
mα,mα(t, t− s)

∫ 2

−2
dE
√

4− E2eisEfα(E)}

Steady state?
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